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次の英文の(  )の中から適する語(句)を選びなさい。 

1) Kyoto is one of the oldest ( city / cities ) in Japan.  

2) That mountain is higher than any other (mountain / mountains ) in this country.  

3) Takeshi is ( very / much / well ) taller than Kenji.  

4) This building is three times ( big / as big / bigger ) as that one.  

5) That man is five years ( as young / younger / youngest ) than you.  

次の日本文にあう英文になるように，＿＿に適する語を入れなさい。 

1) 彼の自転車は私のよりもずっといいです。 

His bike is                           than mine. 

2) 由紀は私のいちばんよい友だちのうちのひとりです。 

Yuki is                           my                          . 

3) この机はあの机の２倍の重さです。 

This desk is                           heavy              that one. 

4) 信濃川は日本のほかのどの川よりも長いです。 

The Shinano is                           any                           in Japan. 

5) 私のおじは私の父より４歳年上です。 

My uncle is four                                        my father. 

6) この本はあの本よりもずっとおもしろいです。 

This book is                          interesting              that one. 

次の日本文を英文になおしなさい。 

1) 太郎は彼のクラスのほかのどの男の子よりも背が高いです。 

 

2) この問題(question)はあの問題よりもずっと難しいです。 

 

3) 私たちの町はこの町の４倍の大きさです。 

 

4) これは日本でもっとも人気のある映画のうちのひとつです。 

 

5) 彼はジムよりもずっと速く走ることができます。 

 

6) 彼女の絵は私の絵よりもずっと美しいです。 
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Taro is taller than any other boy in his class. 

This question is much more difficult than that one. 

Our town is four times as big as this town. (Our town is four times bigger than this town.) 

This is one of the most popular movies in Japan. 

He can run much faster than Jim. 

Her picture is much more beautiful than mine. 

京都は日本でもっとも古い都市のひとつです。 

あの山はこの国のほかのどの山よりも高いです。 

タケシは健二よりもずっと背が高いです。 

この建物はあの(その)建物の３倍の大きさです。 

あの(その)男の人はあなたより５歳年下です。 


